N = 0l & AF & F Al A

A OSBHE2ZE
M S2Z2LUSHE MAE Ha3H(2a 22 /22)

SR CIUHE JIR_XH & 2ZFAES] (St &=
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
CAHMEZZH 628,269 674,132 45,863
S2YCAHE MHE BAS (2L 2Z/2HE) 323,230 287,900 35,330
CUNE HR_ESH L 2FAEF 323,230 287,900 35,330
CIAHME MHAFQ B=E2te| 37,230 35,900 1,330
201 LEr2HH| 30,300 32,970 A2,670
01 At22t2IH] 10,000 32,970 22,970
OLJACTCIHAHNETHI=ZRAS 29 10,000
02 222%H| 20,300 0 20,300
©322I0t DMZ EHOIX 2<% 20,300
202 OfH] 3,930 2,930 1,000
01 2o 3,930 2,930 1,000
ODMZ MIH =l BZ=2e| AEHZAL 3,930
204 R4 AHH| 3,000 0 3,000
03 SEFARAH 3,000 0 3,000
Oy oI B =H| 50,0002 x5 x12& 3,000
CUHE EHES L 2AHAIASA 207,000 205,000 2,000
202 04 2,000 0 2,000
01 2oy 2,000 0 2,000
OLIUNE B3 L AN 24 2,000
307 QI2to|A 205,000 205,000 0
02 QI2HFAMEX 150,000 150,000 0
OFt= Mz Btzd =2 150,000
04 BIZtHAIE = 55,000 55,000 0
ODMZ = 3HAH AlAt 55,000
22Y 0HE 228 ™) 79,000 30,000 49,000
201 LEI2AH| 75,000 28,000 47,000
01 AFR22lH] 40,000 20,000 20,000
OAE DNZ ES M M 10,000
OAXE EdYZ A B 30,000
03 SAIR2ZH| 35,000 8,000 27,000
oMz 22EH5 BHEN =4 15,000
OSKHQIALR SHSHE DMZ 21 D1 AL 20,000
202 OfH] 4,000 2,000 2,000
01 2oy 4,000 2,000 2,000
OZ22Y 01N 28 M| 4,000
HMSHAH| (CIUMEZZR)(IIEHIIE 305,039 386,232 /81,193
ol 2| 292,569 376,662 /84,093




SN OUHERZS
o HY2AAH(CUMERZE)(JIEHIIE
chel: ol (92
SH-EH . C(BH) - NRAY - BES 0 Ak o4 e bRz
ZL oIyl N 292,569 376,662 84,093
101 2121t 281,769 354, 122 AT2,353
01 B4 195, 184 267,577 ~72,393
07123 127,968
o3 118, 124
52 2,626,0002 +2% * 122 63,024
63 1,722,900 %1%+ 128 20,675
73 1,482,8002! « 12 122 17,794
-83 1,385,002 %1%+ 128 16,631
oz24+g 118, 123,202 1/ 12 9,844
0+g 16,346
O}Nz4g 1,200
-t 2 Xt 40,0009 %2 * 128 960
SR 20,0008 +12§ 122 240
OF24LIHE 3,960
~25 01 4 130, 00021 %1% * 122 1,560
~51~10 0] ot 50,0002 *423 122 2,400
ONALDRAY 7,457 +25A 252 122 1,186
oZuZ A 130, 00024 +5% * 122 7,800
OREREY) 7,920
0453 140, 00091 %2 * 12 3,360
0673 130, 00021 %22 * 122 3,120
082 120, 00021 * 1% * 122 1,440
CEEESIL] 118, 123, 20024 #1/12+120% 11,813
OIHXILH  118,123,2002 1/ 12+16. 7%+ 122 19,727
OIS A 118,123,200 1/12+1/30+ 112 3,610
02 et 24 86,565 86,545 40
ChIEE 74,043
OX A% 45 74,043,0002 +1% 74,043
OB+ 40,0008 +12§ 122 480
CE-EE= 2] 130, 00081 #1% * 122 1,560
ONMIHDRLHAY| 350,008 1Y +122 4,200
CRE=EE 400, 00021 %1% * 122 4,800
Ot At
70,203, 96021 #1/12+70%+ 1/30%112! 1,502
204 =S4 AL 10,800 16,260 75,460
IEEEET 10,800 12,660 A1,860
052 250, 00021 2% * 122 6,000
062 55,0002 #1% * 122 1,860
073 140, 00094 +1% * 122 1,680
083 105, 00081 *1% * 122 1,260
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=24 12,470 9,570

fhed JI=HY 12,470 9,570

201 g2y 5,670 5,670

01 AtRzHeld| 5,670 5,670
ORN2Y AR22 5,670

202 01| 2,400 2,400

01 =UodHl 2,400 2,400
oORN2Y 2,400

203 YR=AY| 4,400 0

01 JZ2dAR =T 3,000 0
OF=FS 3,000

02 ERAIIAYRETIY| 200 0
OFAINAS 40,0002 *52 200

04 BANSAARETY| 1,200 0
©52! 0/3} 100,0002 * 12 1,200




